
Defining Vectors 

(a) (b) (c) 

The diagram is made up of nine congruent 

rhombuses. 

 𝑂𝐴⃗⃗⃗⃗  ⃗ = 𝒂 and 𝑂𝐵⃗⃗ ⃗⃗  ⃗ = 𝒃.   

The diagram is made up of twelve 

congruent parallelograms. 

𝑂𝐴⃗⃗⃗⃗  ⃗ = 2𝒄 and 𝑂𝐷⃗⃗⃗⃗⃗⃗ = 𝒅.   

 

 

The diagram is made up of nine congruent 

equilateral triangles. 

𝑂𝐵⃗⃗ ⃗⃗  ⃗ = 𝒙 and 𝑂𝐷⃗⃗⃗⃗⃗⃗ = 𝒚.   
 

 

Define the following vectors in terms of 𝒂 

and 𝒃. 

Define the following vectors in terms of 𝒄 

and 𝒅. 

Define the following vectors in terms of 𝒙 

and 𝒚. 

(a)  𝑂𝐸⃗⃗⃗⃗  ⃗ 2𝒃 (g)  𝑂𝐻⃗⃗⃗⃗⃗⃗  𝒂 + 2𝒃 
(a)  𝐸𝐺⃗⃗⃗⃗  ⃗ 4𝒄 (g)  𝑀𝐽⃗⃗⃗⃗  ⃗ 2𝒄 − 𝒅 (a)  𝐹𝐷⃗⃗⃗⃗  ⃗ −𝒙 (g)  𝐹𝑂⃗⃗⃗⃗  ⃗ −𝒙 − 𝒚 

(b)  𝑂𝐹⃗⃗⃗⃗  ⃗ 3𝒂 (h)  𝐷𝑃⃗⃗ ⃗⃗  ⃗ 2𝒂 + 2𝒃 
(b)  𝐵𝑆⃗⃗⃗⃗  ⃗ 4𝒅 (h)  𝑄𝐹⃗⃗⃗⃗  ⃗ 4𝒄 − 3𝒅 (b)  𝐻𝐴⃗⃗⃗⃗⃗⃗  −2𝒚 (h)  𝐶𝐸⃗⃗⃗⃗  ⃗ −𝒙 + 𝒚 

(c)  𝐺𝐽⃗⃗⃗⃗  𝒂 (i)  𝐼𝑀⃗⃗⃗⃗  ⃗ 3𝒂 − 𝒃 
(c)  𝐾𝐽⃗⃗⃗⃗  −2𝒄 (i)  𝐼𝐿⃗⃗  ⃗ −2𝒄 + 𝒅 (c)  𝐺𝐻⃗⃗⃗⃗⃗⃗  

1

2
𝒙 (i)  𝐻𝐼⃗⃗⃗⃗  −

1

2
𝒙 + 𝒚 

(d)  𝑀𝑃⃗⃗⃗⃗ ⃗⃗  𝒃 (j)  𝑀𝐷⃗⃗ ⃗⃗ ⃗⃗   −2𝒂 − 𝒃 
(d)  𝑅𝐸⃗⃗⃗⃗  ⃗ −3𝒅 (j)  𝐻𝐵⃗⃗⃗⃗⃗⃗  4𝒄 − 2𝒅 (d)  𝑂𝐶⃗⃗⃗⃗  ⃗ 

3

2
𝒙 (j)  𝐵𝐺⃗⃗⃗⃗  ⃗ −𝒙 + 2𝒚 

(e)  𝐴𝑂⃗⃗⃗⃗  ⃗ −𝒂 (k)  𝐶𝐵⃗⃗⃗⃗  ⃗ −2𝒂 + 𝒃 
(e)  𝑂𝐹⃗⃗⃗⃗  ⃗ 4𝒄 + 𝒅 (k)  𝑇𝐸⃗⃗⃗⃗  ⃗ −4𝒄 + 3𝒅 (e)  𝐷𝐵⃗⃗⃗⃗⃗⃗  𝒙 − 𝒚 (k)  𝐻𝐷⃗⃗⃗⃗⃗⃗  −

1

2
𝒙 − 𝒚 

(f)  𝐿𝐷⃗⃗⃗⃗  ⃗ −2𝒃 (l)  𝑁𝑂⃗⃗⃗⃗⃗⃗  −2𝒂 − 3𝒃 
(f)  𝐽𝑇⃗⃗⃗⃗  2𝒄 + 2𝒅 (l)  𝐾𝐷⃗⃗⃗⃗⃗⃗  −6𝒄 − 𝒅 (f)  𝑂𝐸⃗⃗⃗⃗  ⃗ 

1

2
𝒙 + 𝒚 (l)  𝐼𝐹⃗⃗⃗⃗  𝒙 − 2𝒚 

 


